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Ideals for irreducible component#ﬂ)f Xpar

I = (—u®" —2u*® + - 4+ 20— 6u, v +2u* + - +20+4, W+ 3+ +6u+ 1)

Iy = (—au+b— u, u3a—u2a—u3—|—a2—|—3au—2u, u4—u3—|—3u2—2u—|—1>

* 2 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(—u?"—2u?6+...+2b—6u, u?®+2u?°+.--+2a+4, v +3u?"+..-+6u+1)

(i) Arc colorings

a7 = (
_lu27_§u26+..._15u—2
lu27_u26+..._3u,—1
u27+%u26+~-'+201‘+3
as = _%u27_2u26+..._14u2—2u

ay =

w’ + 4ub® + 4B
5u” + Tud + 20 +u

2
%u27+2u26+~~+14u2 + 2u

ud + 2u
a10 = \u® +3u +u

(ii) Obstruction class = —1

f§u2771—21u26+~-722u73
aq =

(iii) Cusp Shapes = 2u?" +5u?0 + ... + 2lu + 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ u®® 4+ 5u* 4 14u+ 1

C2,C5 w5 dut 1
€3 u®® — 5u?" 4 -+ - 4 5562u + 1321

Ca, 8 u®® + T 4 -+ 384u + 256

Ce6,C7,C10 U28 73U27+"‘76U+1
11

o u?® = 3w+ —2u+1
c12 u®® 4+ 110 + - + 184u + 209




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

a1 yB 41y 4 1y + 1

2, Cp Y 45y 4+ 1y + 1
€3 Y28 + 7Ty* + -+ 102223598y + 1745041

C4, C8 y® + 45y + .- - + 344064y + 65536

€6, C7, C10 v 43502 -+ 6y +1
11
Co y28_49y27++6y+1
28 27

c12 Y= —29y°" 4 - - - + 2808126y + 43681




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
u = —0.546864 + 0.8646201
a = —1.78266 + 0.81365] 12.0428 + 7.85021 0.54802 — 5.733151

b= 0.938673 4+ 1.0306601

u = —0.546864 — 0.8646201
—1.78266 — 0.813651 12.0428 — 7.85021 0.54802 + 5.733151
b= 0.938673 — 1.0306601

uw = —0.512075 + 0.9148151
a = —0.310810 + 0.8344901 12.40950 + 0.725731 1.20101 — 1.266271
b= 1.006070 — 0.9215371

uw = —0.512075 — 0.9148151
a = —0.310810 — 0.8344901 12.40950 — 0.725731 1.20101 + 1.266271
1.006070 + 0.9215371

0.041750 + 0.8163321
0.984967 — 0.8161701 2.67787 — 1.513521 3.15826 4 2.963321
—0.730216 + 0.5469041

0.041750 — 0.8163321
= 0.984967 + 0.8161701 2.67787 4 1.513521 3.15826 — 2.963321
= —0.730216 — 0.5469041

= —0.755205 + 0.0313731
—0.154324 — 0.7831841 9.53090 — 3.510751 | —2.36490 + 2.108101

—0.755205 — 0.0313731
—0.154324 4 0.7831841 9.53090 4 3.510751 | —2.36490 — 2.108101
0.955403 + 0.9705171

0.429610 + 0.5908051
—1.30185 — 0.603971 —0.15101 — 2.029201 | —3.29658 + 3.207741
0.291696 — 0.3944381

0.429610 — 0.5908051
= —1.30185 4 0.603971 —0.15101 + 2.029201 | —3.29658 — 3.207741
= 0.291696 + 0.3944381

b
u
a
b
u
a
b
u
a
b= 0.955403 — 0.9705171
u
a
b
w
a
b
u
a
b




Solutions to I7*

V=1(vol + v=1C)

Cusp shape

= —0.179883 + 0.6923641
2.11541 — 0.806161
—0.514946 — 1.0294201

1.04465 + 3.258721

1.94579 — 3.883941

—0.179883 — 0.6923641
2.11541 4 0.806161
—0.514946 + 1.0294201

1.04465 — 3.258721

1.94579 + 3.883941

0.398241 + 0.3477411
—0.595350 4 0.6786011
—0.007486 + 0.5157581

—0.844911 — 0.9639371

—7.23227 + 5.096081

0.398241 — 0.3477411
—0.595350 — 0.6786011
—0.007486 — 0.5157581

> Q2 €|l @ €|l & €|l & &

—0.844911 + 0.9639371

—7.23227 — 5.096081

0.05307 + 1.537021
—0.565559 +- 0.3336401
0.007766 + 0.8412041

e &
I

S8
Il

5.52882 — 2.133871

—4.00000 + 3.292121

0.05307 — 1.537021
—0.565559 — 0.3336401
0.007766 — 0.8412041

e &
([

S8
Il

5.52882 + 2.133871

—4.00000 — 3.292121

0.12702 + 1.572481

S
I

a = —1.339830 — 0.2725531 7.19200 — 4.059991 0

b= 0.478138 — 0.4457591

u= 0.12702 — 1.572481

a = —1.339830 + 0.2725531 7.19200 + 4.059991 0

b= 0.478138 + 0.4457591

u = —0.04195 + 1.634251

a= 1.62168 4 0.084431 9.22292 + 4.038701 0. —2.650807
b= —0.578450 — 1.1501401

u = —0.04195 — 1.634251

a= 1.62168 — 0.084431 9.22292 — 4.038701 0.+ 2.650801

b= —0.578450 + 1.1501401




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.01177 + 1.658931
1.41681 — 0.674941
—0.955702 + 0.5480851

11.38100 — 1.724261

3.45594 + 0.1

0.01177 — 1.658931
= 1.41681 + 0.674941

U
a
b
U
a
b= —0.955702 — 0.5480851

11.38100 + 1.724261

3.45594 + 0.1

u = —0.16140 + 1.66866.1
a = —1.98113 4 0.059791
= 0.93469 + 1.086491

—18.7492 4 10.61381

0. —4.779551

= —1.98113 — 0.05979I

b
u = —0.16140 — 1.66866.1
a
b= 0.93469 — 1.086491

—18.7492 — 10.61381

0.+ 4.779551

= —0.14287 4 1.686691
= —1.04698 + 1.018391
= 1.072160 — 0.8900151

—18.0712 + 3.29921

= —0.14287 — 1.686691
= —1.04698 — 1.018391
= 1.072160 + 0.8900151

—18.0712 — 3.29921

= —2.06037 + 1.417391
= —0.397798 + 0.8436451

—0.31537 — 1.655291

—2.65586 + 5.384501

= —0.221218 — 0.1913911
= —2.06037 — 1.417391

U
a
b
U
a
b
u = —0.221218 + 0.1913911
a
b
U
a
b= —0.397798 — 0.8436451

—0.31537 4 1.655291

—2.65586 — 5.384501




II.
I¥ = (—au+b—u, u*a —u?a —u® + a? + 3au — 2u, u* —u® + 3u? — 2u +1)

(i) Arc colorings

w—au—u?+a+2u
au+u—1

w—u?+a+3u—1

(
(
(
(
e (T
(
(
(
(
(

u?+1
w—u?+2u—1

u3auu2+a+2u>

ag =

a4 = au+u—1

ud + 2u
a0 =\ud —u?2+2u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —u%a + 4u® — 4au — 5u® +a +9u — 5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3,C5 (u* —u+1)*
Co (u® 4+ u+ 1)
C4,C8 u®
cg, C7 (u* — u® + 3u? —2u—i—1)2
Cy, C12 (u* +u® 4+ u? + 1)
€10, C11 (u4—|—u3+3u2 —|—2u—|—1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y2+y+1)4
Cs
ca, 8 y®
Cg, C7,C10 (y4+5y3+7y2+2y+1)2
C11
C9, C12 (W + 92+ 32 + 2y +1)2
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.395123 + 0.5068441
= 0.541116 + 0.2149201
= 0.500000 + 0.8660251

—0.211005 + 0.6147781

—1.64912 4 1.570801

= 0.395123 + 0.5068441
= —1.58443 — 1.442111
= 0.500000 — 0.8660251

—0.21101 — 3.444991

—4.65255 + 7.526351

= 0.395123 — 0.5068441
= 0.541116 — 0.2149201
= 0.500000 — 0.8660251

—0.211005 — 0.6147781

—1.64912 — 1.570801

= 0.395123 — 0.5068441
= —1.58443 4 1.442111
0.500000 + 0.8660251

—0.21101 + 3.444991

—4.65255 — 7.526351

0.10488 4 1.552491
—0.423047 — 0.2830881
0.500000 + 0.8660251

6.79074 — 1.134081

1.80063 — 0.496971

0.10488 + 1.552491
= —1.53364 — 0.358111
= 0.500000 — 0.8660251

6.79074 — 5.193851

—1.99896 + 6.537861

= 0.10488 — 1.552491
= —0.423047 + 0.2830881
= 0.500000 — 0.8660251

6.79074 + 1.134081

1.80063 + 0.496971

= 0.10488 — 1.552491
= —1.53364 4 0.358111
= 0.500000 + 0.8660251

6.79074 + 5.193851

—1.99896 — 6.537861
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u? —u+ D" + 50 + - 4 1du + 1)
C2 (u? 4+ u+ D)MW + 50 + - +4u+1)
C3 (u? —u+1)*) (W — 5u" 4 - - - 4 5562u + 1321)

¢4, Cg uB(u®® + u?" 4 -+ 384w + 256)
CS (u? —u+ D)W + 50 + - +4u+1)

C6, C7 (u* —ud +3u® —2u+ 1)) (u®® — 30 +--- —6u+1)
€9 (v 4+ v +u? + 1)) (W =3+ —2u+1)

€10, €11 (u* +ud +3u® + 2u + 1)) (u®® — 30> +--- —6u+1)

c12 ((u* 4 u® +u? + 1)) (u®® + 11?7 + - - - + 184u + 209)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

“ (P +y+DHE + 4197 + -+ 14y + 1)

c2,C5 (P +y+ D +5y> + - + 14y + 1)
“ (P +y+ DY + 7797 + - +1.02224 x 10%y + 1745041)

Ca, Cs v (y?® 4+ 45y%" + - - + 344064y + 65536)

66’67’22 (" +5y° + 7y + 2y + 1)) (y** + 35" + - + 6y + 1)

© (V' +9° +307 + 20+ D) (> —49y* 4+ - + 6y + 1)
ci2 ((y* + % + 3y% + 2y + 1)?)(y*® — 2997 + - - - + 2808126y + 43681)
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